For More Visit VU Answer
CS606 Final Term Papers By Waqar (File 1)

(Question No : 1 of 52

Marks: 1 (Budgeted Time 1 Min)

convert the relocatable machine code inte absolute machine code by linking library and relocatable object files

Answer ( Please select your correct option )

(o

Assembler

Loader/link-editor

Correct answer solved by Hadi
Email : usmanraj20@gmail.com
ell no: 03228043306

Clompiler

Preprocessor

‘Question No : 2 of 52

Marks: 1 (Budgeted Time 1 Min)

Parcers take as nput from lesdcal analyzer

Answer ( Please select your correct option )

(o]

-

Linker

Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03228043306

Instruction

Mone of the given

‘Question No : 3 of 52

Marks: 1 (Budgeted Time 1 Min)

The regular expression denetes, the set of all strings of a's and b's of length twe

Answer ( Please select your correct option )

a*

@

(afb)(alb)

COITect answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03228043306
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Question No : 4 of 52 Marks: 1 (Budgeted Time 1 Min)

is a regular expression for the set of all strings over the alphabet {a} that has an even number of a's.

Answer ( Please select your correct option )

o

-

aa*

Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03228043306

a(aa)*

YNade by: Vy/aqar Siddhu

Question No : 5 of 52 Marks: 1 (Budgeted Time 1 Min)

phase supports macro substitution and conditional compilation.

( Please select your correct option )

-

Semantic

P 3 Correct answer solved by Hadi
TEPIOCEssg Email : usmanraj20@gmail.com

Cell no: 03228043306

None of given

YNade by: Yy/aqar Siddhe

Question No : 6 of 52 Marks: 1 (Budgeted Time 1 Min)

In LL(1) parsing algorithm, contains a sequence of grammar symbols.

Answer ( Please select your correct option )

-

Stack Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03228043306

Link List

None of the given
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Question No : 7 of 52

Marks: 1 (Budgeted Time 1 Min)

Clonsider the grammar

A—BCD
B—=hE|=
C—Cglg|Chli

Answer ( Please select your correct option )

hogi
~

Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03228043306

Nene of the given
o

Question No : 8 of 52

Marks: 1 {Budgeted Time 1 Min)

parsers never shifts into an error state.

Answer ( Please select your correct option )

L3

Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03228043306

~

Question No : 9 of 52

Marks: 1 {(Budgeted Time 1 Min)

In parser, the two LL stand for

Answer ( Please select your correct option )

Left-to-right scan of input

left-most derivation

Left-to-right scan of mput and left-most denvation

Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03228043306

Mone of the given
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Question No : 10 of 52 Marks: 1 (Budgeted Time 1 Min)

is elaborated to produce bindings.

Answer ( Please select your correct option )

Declaration Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03228043306

Expression

None of the given
-

Question No : 11 of 52 Marks: 1 (Budgeted Time 1 Min)

A lexical analyzer generated by is essentially a FSA.

{ Please select your correct option )

Dex

Correct answer solved by Hadi
Email : usmanraj20@gmail.com

-
Cell no: 03228043306

Question No : 12 of 52 Marks: 1 (Budgeted Time 1 Min)

The actions (shift, reduce) in a SLR(1) parser depend on a lookahead symbol ( 2)

Answer ( Please select your correct option )

Current input token Correct answer solved by Hadi
O Email : usmanraj20@gmail.com
Cell no: 03228043306

Next Input Token

Previous output Token

Previous Input Token.
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Question No : 13 of 52 Marks: 1 (Budgeted Time 1 Min)

The following grammar contains a conflict.

S =4 |xb

Answer ( Please select your correct option )

Shift-Reduce Correct answer solved by Hadi
&) Email : usmanraj20@gmail.com
Cell no: 03228043306

First-Reduce

Shift-First

Reduce-Reduce
~

Question No : 14 of 52 Marks: 1 {Budgeted Time 1 Min)

Considering the fallowing grammar

S — 4B
A— z|ah
B— b|tB

Answer ( Please select your correct option )

1
-

-

Question No : 15 of 52 Marks: 1 {(Budgeted Time 1 Min)

Simple code generation considers one AST node at the time. When the target is a stack machine, the code can be generated in one trawersal of the AST

Answer ( Please select your correct option )

Depth-first Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03228043306

Breadth-first

First-first

Shift-Feduce
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Question No : 16 of 52 Marks: 1 (Budgeted Time 1 Min)

is a register allocation technigque that alweps finds the minimal number of registers needed for a procedure

Answer ( Please select your correct option )

Dangling reference
-

Graph coloring Correct answer solved by Hadi
Email : usmanraj20@email.com
Cell no: 03228043306

Left Factoring

Right Recursion
~

Question No : 17 of 52 Marks: 1 {Budgeted Time 1 Min)

When generating code at the basic block level, the dependency graph must be converted to target code. By identifying , instraction selection and instraction ordering can be performed efficiently in a
single pass

Answer ( Please select your correct option )

Token sequences

Ladder sequences Carrect answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03228043306

Physical sequences

Logical sequences
~

Question No : 18 of 52 Marks: 1 (Budgeted Time 1 Min)

can be considered a small compiler since it transforms a source language (assembly) into a less abstract target language Chinary object cods)

Answer ( Please select your correct option )

Parser
-

Aggembler

Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03228043306

YNade by: YWaqar Siddhy
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Question No : 19 of 52 Marks: 1 (Budgeted Time 1 Min)

When memory allocator operates on chunks which include some administrative part and a block of user data. The administrative part includes flag for marking the chunk as free or in-use.

Answer ( Please select your correct option )

One Correct answer solved by Hadi

o Email : usmanraj20@gmail.com
Cell no: 03228043306

: Waqar Siddby

Question No : 20 of 52 Marks: 1 (Budgeted Time 1 Min)

A parser transforms a stream of tokens into an

( Please select your correct option )

AST

Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03228043306

: Waqar Siddhe

‘Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min)

The parser generator yacc can handle

Answer ( Please select your correct option )

LL{1) Correct answer solved by Hadi
(@) Email : usmanraj20@gmail.com
Cell no: 03228043306

Waqar Siddh
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Question No : 22 of 52 Marks: 1 (Budgeted Time 1 Min)

Simple code generation considers one AST node at a time. If the target is a register machine, the code can be generated in one traversal of the AST, possibly introducing temporaries when running
out of registers.

Answer ( Please select your correct option )

Depth-first Correct answer solved by Hadi
el Email : usmanraj20@gmail.com
Cell no: 03228043306

Breadth-first

Depth-second

i Breadth-second tmﬂd@ b,: Wuqul' $iddhu

Question No : 23 of 52 Marks: 1 (Budgeted Time 1 Min)

Attributes whose values are defined in terms of a node’s own attributes, node’s siblings and node’s parent are called

( Please select your correct option )

Inherited attributes Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03228043306

Physical attributes

Logical attributes

. Un-synthesized attributes wﬂ q“ [ o $idd I, L (]

Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min)

A linker combines multiple object files into a executable object

Answer ( Please select your correct option )

Single Correct answer solved by Hadi
- Email : usmanraj20@gmail.com
Cell no: 03228043306

Double

Quadruple

Waqar Siddh

For More Visit VU Answer



https://vustudents.pk/
https://vustudents.pk/

For More Visit VU Answer

Question No : 25 of 52

The notation

Marks: 1 (Budgeted Time 1 Min)
instructs YACC to push a computed attribute value on the stack.

Answer ( Please select your correct option )

88

o

Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03228043306

-

| YNade by: Vy/aqar Siddhe

The following two items

Marks: 1 (Budgeted Time 1 Min)

A =PreQ
B —P *Q

can co-exist in an item set.

( Please select your correct option )
LR

Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03228043306

-

| YNade by: Yy/aqar Siddhy

The following two items

Marks: 1 (Budgeted Time 1 Min)
Ay Po%Q

B =P *Q

can co-exist in an item set.

Answer ( Please select your correct option )

LR

-

Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03228043306

YNade by: Yy/aqar Siddhy
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Question No : 27 of 52

Marks: 1 (Budgeted Time 1 Min)

When generating a lexical analyzer from a

description, the item sets (states) are constructed by two types of “moves”: character moves and = moves.

Answer ( Please select your correct option )

o

-

Character

Correctamswer sotved by Hadt
Email : usmanraj20@gmail.com
Cell no: 03228043306

Sentence

YNade by: VY/aqar Siddhu

Question No : 28 of 52

Marks: 1 (Budgeted Time 1 Min)

Hybrid IRs combine elements of £

( Please select your correct option )

-

Graphical (structural)

Both graphical and linear IRs

Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03228043306

Non-Linear IRs

YNade by: Yy/aqar Siddhy

Question No : 29 of 52

Marks: 1 (Budgeted Time 1 Min)

[i]=y

This is

Answer ( Please select your correct option )

-

Prefix assignment

Postfix assignment

Index assignment

Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03228043306

Non-Index assignment

YNade by: Yy/aqar Siddhy
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Question No : 30 of 52

Marks: 1 (Budgeted Time 1 Min)

A lexical analyzer generator, automatically constructs a that recognizes tokens

Answer ( Please select your correct option )

o

-

FA

Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03228043306

Unidirectional Graph

YNade by: VY/aqar Siddhu

Question No : 31 of 52

Marks: 1 (Budgeted Time 1 Min)

if z relop y goto L

Above statement is

( Please select your correct option )

-

Abstract jump

Conditional jump

Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03228043306

While loop

Unconditional jump

YNade by: Yy/aqar Siddhy

Question No : 32 of 52

Marks: 1 (Budgeted Time 1 Min)

In a CFG (Context Free Grammar) the set of terminal and non-terminal symbols must be

Answer ( Please select your correct option )

-

Disjoint

Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03228043306

Relational

YNade by: Yy/aqar Siddhy
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Question No : 33 of 52 Marks: 1 (Budgeted Time 1 Min)

YACC contains built-in support for handling ambiguous grammars resulting in conflicts.

Answer ( Please select your correct option )

Shift-reduce Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03228043306

o

Reduce-reduce

Reduce-Shift

= YNade by: Vy/aqar Siddhe

Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Min)

The translation statements can be conveniently specified in YACC.

( Please select your correct option )

Syntax-directed Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03228043306

Image-directed

Sign-directed

Segment-directed

2 YNade by: Yy/aqar Siddhy

Question No : 35 of 52

Marks: 1 (Budgeted Time 1 Min)

When constructing an LR(1) parser we record for each ttem exactly in which context it appears, which resolves many conflicts present in parsers based on FOLLOW sets.

Answer ( Please select your correct option )

SLR(1) Correct answer solved by Hadi
c Email : usmanraj20@gmail.com
Cell no: 03228043306

LRS(1)

SLL(1)

YNade by: Yy/aqar Siddhy
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Question No : 36 of 52 Marks: 1 (Budgeted Time 1 Min)

Code generation module has to tackle

Answer ( Please select your correct option )

Memory management
-

Instruction selection

Instruction scheduling Correct answer solved by Hadi
Email : usmanraj20@gmail.com

Cell no: 03228043306

; All of the given tmﬂd@ b,: Wﬂ“u' &iddhﬂ

Question No : 37 of 52 Marks: 1 (Budgeted Time 1 Min)

For convenience, lexical analyzers should read the complete program into memory.

( Please select your correct option )

Input Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03228043306

Input and output

Tokens

2 YNade by: Yy/aqar Siddhy

‘Question No : 38 of 52 Marks: 1 (Budgeted Time 1 Min)

Considering the following grammar:

5 —a |x
A —adb |x

The grammar contains a conflict.

Answer ( Please select your correct option )

Correct answer solved by Hadi
Reduce-reduce 3 2 :
o Email : usmanraj20@gmail.com
Cell no: 03228043306

First-first

Shift-reduce

YNade by: Yy/aqar Siddhy
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Question No : 39 of 52

Marks: 1 {Budgeted Time 1 Min)

The erder in which the DAG s traversed can lead to code

Answer | Please select your correct option )

Eetter
o

Correct answer selved by Hadi
Email : usmanraj20@gmail. com
Cell no: 03228043306

Garbage
e

YVade by: Y4/ aqar Siddhe

Question No : 40 of 52

Marks: 1 {Budgeted Time 1 Min)

Eegister allscation problem usee the strategy of

Answer | Please select your correct option )

Graph colonng
P

Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03228043306

Graph nodding

Graph patching

ion System (CLIENT) YUTES 6. all 2012 (FinalTerm) indows Internet Explorer

YNade by: Y4aqar Siddhy

—
@ Je |£; hitp:flocalhost YUTES dient {Instructions. aspe:

342 [ x| [ 2 tive search

File Edt Wew Favortes Took Help

¢ Favorltes | 25 @] Suggested Sites = @] Wab Sice Galary

& YU Examination System (CLIENT) VUTES 6.5 212, . Fall.. i I

5 v B - = - Page~ Gafeby - Tooks v -

(Question No : 41 of 52

= |

Marks: 2 (Budgeted Time 4 Min} =]

perform first?

Suppose you are making a transition table from a DFA. You find a situation where a state has multiple outgomng paths; one 13 for epsilon and other for any other alphabet. Which transition will you

\Answer ( Please click here to Add Answer )

N EaR] 0] & O 9@ o]

rirmal === =z =i 7 o]

DFA me nul ki transition hoti hi nhi mamu
chohdri kukar khan shabaloo

4

Start Time: 7-:35 AM

O « » ¥

=

|paper.aspx

‘s %4 Local intranet: fg v | R100% T
0] A
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all 2012 (FinalTerm; Windows Internet Explorer
@ ¥ | http:/flocalhost, s

Fle Edt Wiew Favortes Iooks Help
¢ Favortes | 73 @15 Stes v ] W

(& VU Examination System (CLIENT) YUTES 6.5 :

| (% v Page~ Safety~ Tools v |
Question No : 42 of 52

How a flow graph can be a Reducible Flow Graph?

Marks: 2 (Budgeted Time 4 Min) (=)

Answer ( Please click here to Add Answer )

O e & a7l & B o [ oo =]
Jniormel | BE =z =Hie 2 o

Reducible Flow Graphs: If every retreating edge is a back edge, regardless

of which depth-rst spanning tree is chosen, then the flow graph is said to
be reducible.

q

Start Time: 7:35 AM

119:00

] O i« « » ¥
Time Left

;j
[ T [ [ [ N3tocalintranet ‘a v mi0% -,
dows Internet Explorer .
@T.\ v [&] hitp:/flocahost; ;

N [-1 B3]
Tools Help

Search ol
¢ Favorites |3 @] Suggested Sites v ] Web

File Edt Wiew Favorites

{ VU Examination System (CLIENT) VUTES 6.5 :::... Fall...

Question No : 43 of 52

= v Pagev Safety v Toolsv @~

Marks: 2 (Budgeted Time 4 Min)  [=] B
Traverse the following tree in Inorder.

A ]

Answer ( Please click here to Add Answer )

O BaR & EEs o[ s

9 | @ Jroo% =]
TNormet = e =z EHieis o

q

Start Time: 7:35 AM

.0
119:00 i CHOICR
Time Left
‘Daner.asnx

|
[T T [ NStocalintranet [Fa~ [®ioe ~
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/2 YU Examination System (CLIENT) YUTES 6. all 2012 (FinalTerm! Windows Internet Explorer
@\7 =[] hitpi/flocahostjut
File Edt View Favorites Tools Help
<z Favortes |
{ vU Examination System (CLIENT) YUTES 6.5 ::1... B8 - = v Page~ Safety~ Tooks~ @~
Question No : 43 of 52 Marks: 2 (Budgeted Time 4 Min) (=) =l
7S

Gila

e N

1
/Answer ( Please click here to Add Answer )

O Ea& &= o B o @) oo =]
[Normel ] [aviar 2| =

s

N

@n <« » M O
4|

[ T [ [ N3 Localintranet 7~ [®iow -
] =181 x|

Start Time: 7:35 AM
Lol

119:00
)| X |2 Live

Time Left
all 2012 (FinalTerm! dows Internet Explorer

T v B - 0 mov Pagev Sefety v Todk e @
|

@A < [&] hetpiiocathost X
File Edit View Favorites Tools Help
Marks: 2 (Budgeted Time 4 Min) (=]

¢ Favorites | 25 v @] Web Sl Gallery ~

..Fall,..I

{8 VU Examination System (CLIENT) VUITES 6.5 :

Question No : 43 of 52

N ]

B = (&

Answer ( Please click here to Add Answer )
Mo Ea Ry ews = E R [ o=
[tiarmsl = faval Az =dis - gl

ABCDEF

BY gull 200%
0]
@ M @ » M @

[T [ N3tocalintranet [Va ~ [#i00% -

Start Time: 7:35 AM

119:00

Time Left
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all 2012 (FinalTerm; Windows Internet Explorer
@ ) @ €] hitp:/flocalhost/vUTES cier

Ble Edt View

Favorites Tools Help

L Favorites |

(& VU Examination System (CLIENT) VUTES 6.5 :

B8 -
Question No : 44 of 52

| gm v Page~ Safetyv Tooks+ @~

Identify, whether the following grammar is LR(1) or LL(1)?

Marks: 2 (Budgeted Time 4 Min) (=) =
S—Aca|Bcb

A—c
B—c

/Answer ( Please click here to Add Answer )

O Ea& &= o B o @) oo =]
[Normel ] [aviar 2| =

q

Start Time: 7:35 AM

119:00

' O « »
Time Left

e |

€§ - [ N Cocalintranst R
Il 2012 (FinalTert Internet Explorer ’*
&9 l, http:/ flocalhost /! .

=181 x|

arct Pl=
v @] Web Slice Gallery ~

File Edt Wiew Favorites Tools Help

i Favorites |5 2

@ VU Examination System (CLIENT) VUTES 6.5 ::t... Fall.. | | Safety » Tools v @~
Question No : 45 of 52

P
Marks: 3 (Budgeted Time 6 Min) (=] =l

Is the given grammar ambiguous? Explain reason in both cases if your answer is yes or no.
G—E

E—T+E|T

T—F*T|F

F—a

Answer ( Please click here to Add Answer )

DEaR|y bw|o = |[als i g [E e
[iiormel I | T Az Hdis r gl

yes
bcz of En T has 2 values

q

Start Time: 7:35 AM

o
118:00 @ SN
|paper.aspx

[T T [ [ N3tecaintranet

N

7N

‘o v [ Hi100% -
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all 2012 (FinalTerm; Windows Internet Explorer
@ < [&] hetp: locathost

Fle Edt Wiew Favortes Tooks Help

¢ Favortes | 73 @15 Stes ~ ] W

/& YU Examination System (CLIENT) YUTES 6.5 :

| (% v Page~ Safety~ Tools v |
Question No : 46 of 52

Marks: 3 (Budgeted Time 6 Min) (=)
How can compiler transformation improve a program?

/Answer ( Please click here to Add Answer )

e e N N R N e |
Jnvormel = [avial = | A

These are called the LALR(]) states. LALR(1) stands for LookAhead LR(1). This leads
to tables that have 10 times fewer states than LR(1).

q

Start Time: 7:35 AM

118:00

] O« « » ¥
Time Left

=l
[T [ [ N3 tocalintranet ‘a v [ mi0% -,
all 2012 (FinalTerm dows Internet Explorer l
@A < [&] hetpiiocathost

-1&] x|
x 9| % |2 Live searc P
File Edit View Favorites Tools Help

s Favorites | 2

v @] Web Slice Gallery ~

{8 VU Examination System (CLIENT) YUITES 6.5 :::.., Fall... | |

T - B - 0 o - Page - Safety Tooks~ @
Question No : 47 of 52

Marks: 3 (Budgeted Time 6 Min) (=] B
Which information we can get from the third section of YACC file?

Answer ( Please click here to Add Answer )

Mo Ea Ry ews = E R [ o=

[niormel | T 2 |

Definitions get from 1 section
%%

Rules get from 2™ section

%%

C/C++ functions get from third section

q

Start Time: 7:35 AM

ol
118:00 ‘ O« » ¥

|paper.aspx

[T [ N3tocalintranet [Va ~ [#i00% -
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all 2012 (FinalTerm; Windows Internet Explorer

Fle Edt Wiew Favortes Tooks Help

¢ Favortes | 73 @15

Sites ~ ] W

(& YU Examination System (CLIENT) YUTES 6.5 :

Question No : 48 of 52

| v Page~ Safety~ Took v |

Marks: 3 (Budgeted Time 6 Min) (=)

A=6*(B+C);
D=4 *B+C),

Transform the following basic block into its equivalent block after performing common sub-expression elimination.

/Answer ( Please click here to Add Answer )

Jhiarmal

e e N N R N e |

5 I

=2

sz u

q

Start Time: 7:35 AM

intahai chawal he paper dene wala

temp=(B+C)
A=temp*6
D=temp*A

118:00

Time Left

O« « » ¥

-

@’\j- [&] titp: focathostv

all 2012 (FinalTerm;

dows Internet Explorer

[~ F]*]* [ [ 3 Localintranet: [Fa - [®Rio% -

File Edt Wiew Favorites Tools Help

i Favorites |5 2

=181 x|
2l

v @] Web Slice Gallery ~

@ U Examination System (CLIENT) VUITES 6.5 :

Question No : 49 of 52

w Fall.,.

T v B - 0 v Pagev Sefety v Todk e @

=

Marks: 5 (Budgeted Time 10 Min)  [=]

X -> Yza |
Y->0bY |d
Z->cZ |

T

e

Answer ( Please click here to Add Answer )

Considering the following grammar, calculate the first set of non-terminals 3, Y, Z and follow set of non-terminals X and Y.

DEEan]sae|s - |alsa

[tiarmal

G 9 @ oo |

em EE

=B o

first set
X={afb,d.ce}
Y=({b,d}
Z={ce}

q

Start Time: 7:35 AM

fellow set

X={(8}

118:00

o0

Time Left

|paper.aspx

@K(bﬂ

N

7N

[T T [ [ N3tecaintranet

‘o v [ Hi100% -
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/2 YU Examination System (CLIENT) YUTES 6. all 2012 (FinalTerm; Windows Internet Explorer
@ v [e] hitp:/focakhost, finstructions. asp>

Fle Edt Wiew Favortes Tooks Help

¢ Favortes | 73 @15 Sites > | Web Slice Gallery ~

(& YU Examination System (CLIENT) YUTES 6.5 :::... Fall... I |

& | fmn v Page~ Safety v Tools v
Question No : 50 of 52

Marks: 5 (Budgeted Time 10 Min) (=]

Develop an algorithm to generate LALR(1) DFA
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Repeat until all states have distinct code

choose two distinct states with same core

merge states by creating a new one with the union of all the items
point edges from predecessors to new state

new state points to all the previous successors
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Add semantic rules to the following grammar to compute the attribute xm whose value is the rightmost terminal in the string we parsed. 2
Note: subscripts in the grammar below are only to distinguish multiple instances of the same non-terminal
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S.nptr = A.nptr

S.nptr = mknode (‘rm’, y.val)

A.nptr = mknode(‘Z’, A1.nptr, x.val, y.val)
A.nptr = mknode(‘2’, B.nptr, A1.val, y.val)
B.nptr = mknode(‘d’, B1.nptr, z.val)
B.nptr = mkleaf(*”’, x.val)
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Translate each of the following instruction set into simple words.

if x then goto L
if !x then goto L
call pnx
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if x true goto L

if x nottrue thengoto L
reciveing the paramtr x
call the function p,nx ..
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if x then goto L
if !x then goto L
call pnx
return x

Answer ( Please click here to Add Answer )
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X got the value
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